CONVERSION OF UNITS OF MASS
Exercise - 7.1 Page 105

SOLUTION FOR H.W. GIVEN ON 24-09-20

1
a 4000 ginto kg
1000 g = 1kg
4000 g = (4000 -:- 1000)kg
4
1000‘ 4 0 O 0
0
X X X X
Ans - 4 kg
d 3kg200gintog
1kg=1000g
3kg= (3x1000) g
=3000¢g
3kg200g-= 3 0 0 Og
+ 2 0 Og
3 2 0 Og

Ans - 3200 g



5kgs50g

1 kg = 1000 g
5kg = (5 x1000) g
5000 g
5kg50g-= 5 0 0 Og
+ 5 O0g
5 0 5 Og
Ans - 5050 g
1kglg
1 kg = 1000 g
1kglg= 1 0 0 Og
+ 1g
1 0 O 1g
Ans-1001g
5500 g into kg
1000 g = 1kg
5500 g = (5500 -:- 1000)kg
5
1000 5 5 0 0
5 0 O 0
5 0 0



Ans - 5 kg 500 g

11623 ginto kg

1000 g = 1kg

11623 g = (11623 -:- 1000) kg
1 1
1000\ 1 1 6 2 3

1 0 O 0

1 6 2 3
1 O 0 0
6 2 3

Ans-11kg623 g







